BALL CHUTE I NSTALLATI ON

1. Slide Ball Chute onto Mounting Board and slide to lower

S Top
position. /
2

2. Choose a location to install the Ball Chute and attach e
top of Mounting Board using Spacer Block, Flat Washer
and 5/16 x 4" Lag Washer.

3. Slide Ball Chute to upper position and attach bottom of N
Mounting Board using Spacer Block, Flat Washer and 5/16 7l
x 4" Lag Washer.

4. Slide Ball Chute to desired location and install #10 x 1 1/2" T
Screw and #10 Flatwasher to secure Ball Chute in place. Mounting Board

>

\IQ

5/16 Flatwasher

5/16 x 4" Lag Bolt

Spacer Block #10 Washer

#10x 1 1/2" Screw

Ball Chute

PA-MAN-BCHUTE-00



